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32&%) waztd | ®adnd | 5%4% | HE
Ark(171/300~3509) 2,155 2,146 9 0.41%
Hi (17H/650~700g) 4,081 3,796 285 7.49%
2(171/1kg) 1,766 1,482 284 19.16%
Hi 2=(1 27| /3kg) 4,221 4,279 58 -1.35%
CHitH(15/S/1kg/2E 7HA) 2,654 2,582 72 2.79%
20|(37H) 2,277 2,563 286 -11.16%
K| 27| (= 4t/ 4 4/6009) 18,940 18,332 608 3.32%
SET= SE7|(10H2] /1kg) 7,202 7477 275 -3.68%
(16E5) A D 7|(=Z /=7 HE LK /1S 38,636 39,736 1,100 2.77%
A0 7|(F4A/54/6009) 67,998 68,546 548 -0.80%
= ZF(1EH/CH2k/307H) 7,274 6,954 320 4.60%
Z7Z|10r2|/=4t/15em) 1,000 1,238 238 -19.19%
ZX|(10t2]|/=4H/80ecm) 7,513 7,731 218 -2.82%
D@ 0rE|/=4F/30cm) 4,273 3,797 476 12.54%
HEf(10r2]/2H A|OFLF/40¢m) 4,616 3,533 1,083 30.65%
Qd0j(10t2|/3-=/30cm) 4,539 4,639 100 -2.16%
% (20kg) 57,030 59,070 2,040 -3.45%
2| (=4/1kg) 3,138 3,298 160 -4.85%
LIt (1kg) 1,956 1,578 378 23.95%
7t0bS (1kg) 11,823 11,277 546 4.84%
L7t F (S EHE/1ko) 2,094 1,679 415 24.72%
2 ((152/300g/3 At +W1| 1,333 1,195 138 11.55%
MEE M%%(1.8L/+7| 7,546 7,160 386 5.38%
(148 5) =72 (1kg/= U M) 28,286 28,503 217 -0.76%
D1| FE(1kg/=LH4h 10,788 11,090 302 -2.73%
T AH1kg/= L 4 4476 5,013 537 -10.72%
—*‘erm /5009) 2,366 2,448 82 -3.34%
3|22 (L) 2,038 1,947 91 4.66%
74 S2(1L) 2,065 1,942 123 6.32%
S(1L) 1,528 1,422 106 7.46%
~ = AT(1 tg 36OmQ/_+_DH7.§1) 1,484 1,454 30 2.06%
o OHZ= (18 500me/Z O &) 1,643 1,588 55 3.46%




